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Borumciam -Nel,

- Pemu 3agaun- No2

Penm 3amauu - Ned

Bripazu Ne4




3agada Ne2 (a)

1 BAroH — 35nacca>|<|/|p0|3§
2 BalOH — ?Ha 5> »?
(35+5)+35=75(n.) _~

OTBeT: Bcero 75 naccaxmupos. } A

i <0



3apava (0)

—

1BaroH — 35n.
2 BaroH — o 7 [ 7on. JH4 ? 6onbLue

1)75-35=40(n.)
2)40-35=5(n.)
OTBEeT: Ha 5 naccaxnpos OonbLLE.




3agada Ne3 (a)

bbino-64 k.
[Mpoganu — 10k. n 30k.
OcTanocb- ?

64-(10+30)=24(k.)
(64 - 10) — 30= 24(k.)
(64 — 30) — 10= 24(k.)

OTBEeT: ocTanocb 24 KOPOOKU.






dUi 1 DOLLTH MK

IHCHA

Y T1eds1  |0CTAJIOCH
ecTh
e 52 Tr 59 1r ?21r
” 23 Tr 68 1r ?21r
~ |6lar 95 1r 21r




Ha «4»
X+33=43
b- 34=34
87-c=56




Bbipasu

14. 5 MMH =65 MUH
1AM 5 cMm =15cwm

83 MUH =14 23MUH

83CM =380M 3 CM



CErojHsi HA YPOKE

HaN/“dA U171 CS51

MOTY MIOXBATTS ce6ﬂ
i QEHOKACCHMIKOB 32




OMAIIIHCC 3A/1AaHUC

No7, Ne&

cTp. 136







